Nzrvous Przsi dents — Rc.vis'\ov\

Stakes

o the Posil:ion of the boat (2 Pov.si\oi |i|:i:.s>
o AB  the number of bod\tjjuark» on the left bank
° lP hhe. num‘ocr oP Pnsio\cn‘?& on the h“: BM‘:
Stake = BoakPosition x NoBGsOnleft x NoPsOnleFt
Boa.hPos'\]:im = {Lo.“:, ﬂid\x\:}
NoBGsOnLeft = {0..N}
NoPsOnleft = {0..N}

ISkabe] = 2k (N+1) x (N+1)




Valid States

A Pras'\danli connok be with a bodwmrd
unless ‘nis/ her ‘oodj 3uaro\ is also Przszn.l‘:.
26 . NoBGsOaleft
LP : NoPsOnlePt

6=0 v LB:=N v L6={P

The number of sbabes  sabish ivlj (lﬁ:l.?) is N+l .
The number oP sbakbes sal:is%in .
(16=0 v 1B=N)A=(IB-tP) i 2xN .
l-\ma, bobal no. of Lefid sbates = 2x (N+|+2&N) = 6xN+2Q .

E“\zcl: oP ( u“""“‘"“":'j) Naml:tj

Suﬂoose, cou.t)‘cs are named 1..N .
Prz.sidenl:s are named P1...PN.
bod\tjsuw.rda are named B1...BN .

o bhe Posi‘;ion of the boat (2 Poscibi ‘il:izr:.)
o AB  the seb  of Bodaﬁuuro\a on the Left bank
o [P the sk of Pusio\u\‘;a on the LePt bank .
Steke = BoatPosibion x SebOPBGsOnLelt % St OFPsOnLebl
BoatPosibion = { Lo.N:, R\O\x\:}
SekONRGsOnLelt = 20
SEOMPsOnlelt = 20-M




\5"0»\:9.\ = d x 2leN

|08 =0 v KBl =N v WUB|= kP
=0 v MWB={1.N} v 1B-1P

Qt’,\mrilte as

3= v IB={ILN} v B<clB=2P<{l.\

Total no. of valaf stakes
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Conc‘Msi on

/4 vord unmce&fa:y ﬂam/(lj.

An inaﬂamfrial'e rLFas.Ml:«\:ion op Q Pm'olum can

lead Eo an axP\osion in the size of the stabe space.




